

Name Maywan Ahmad

ID 16067

Section "A"

Submitted to mam Shomaila Mazhar

Department Civil Engineering

Subject Applied Calculus

Q.1) The function  $f(t)$  is defined by

$$f(t) = 0 \quad t < 0$$

$$t^2 \quad 0 \leq t \leq 3$$

$$2t + 3 \quad 3 < t \leq 4$$

$$12 \quad t > 4$$

(a) state any point of discontinuity.

Solution:-

At point  $t = 3$   $f(t)$  is not continuous.

because  $f(3) = 9$

and  $\lim_{t \rightarrow 3^+} f(t) \neq \lim_{t \rightarrow 3^-} f(t)$

so limit does not exist  
 $\lim_{t \rightarrow 3}$

In this case

Thus  $t = 3$  is discontinuity point in the domain of  $f(t)$ .

Q1) b) Find, if they exist

$$\lim_{t \rightarrow 3} g$$

Solution:  $g(0) = 0$  and

$$\lim_{t \rightarrow 0} g(t) = 0$$

$$\text{and } \lim_{t \rightarrow 0} g(t) = 0$$

$$\text{i.e. } \lim_{t \rightarrow 0} g(t) = \lim_{t \rightarrow 0} g(t)$$

$\Rightarrow \lim_{t \rightarrow 0} g(t)$  exist

$$\text{and } \lim_{t \rightarrow 0} g(t) = g(0)$$

so  $g(t)$  is continuous at point  $t=0$ .

Q2] Find the MacLaurin's series for Page (3)

$$y(x) = x^2 + \sin x$$

$$f(x) = x^2 + \sin x$$

$$f(0) = 0$$

$$f'(x) = 2x + \cos x$$

$$f'(0) = 2(0) + \cos(0)$$

$$f'(0) = 1$$

$$f''(x) = 2 - \sin x$$

$$f''(0) = 2 - \sin(0)$$

$$f''(0) = 2$$

$$f'''(x) = -\cos x$$

$$f'''(0) = -\cos(0)$$

$$f'''(0) = -1$$

Substituting these values in the formula.

$$f(x) = f(0) + f'(0)x + \frac{f''(0)}{2!}x^2 + \frac{f'''(0)}{3!}x^3 + \dots$$

$$x^2 + \sin x = 0 + 1x + \frac{2x^2}{2!} + \frac{(-1)x^3}{3!} + \dots$$

$$x^2 + \sin x = x + x^2 - \frac{x^3}{6} + \dots$$

Q3) Find  $y''$  given

$$1 + xy = x^2 + y^2$$

$$\frac{d}{dx}(1) + \frac{d}{dx} xy = \frac{d}{dx} x^2 + \frac{d}{dx} y^2$$

$$0 + x \cdot \frac{dy}{dx} + y = 2x + 2y \frac{dy}{dx}$$

$$x \frac{dy}{dx} - 2y \frac{dy}{dx} = 2x - y$$

$$\frac{dy}{dx} (x - 2y) = 2x - y$$

$$\frac{dy}{dx} = \frac{2x - y}{x - 2y}$$

Now taking second derivative using quotient's formula.

$$y'' = \frac{v \cdot u' - u \cdot v'}{v^2}$$

$$u = 2x - y$$

$$u' = 2$$

$$v = x - 2y$$

$$v' = 1$$

Put in formula.

$$y'' = \frac{(x - 2y)(2) - (2x - y)(1)}{(x - 2y)^2}$$

$$y'' = \frac{2x - 4y - 2x + y}{(x - 2y)^2}$$

$$y'' = \frac{-3y}{(x - 2y)^2}$$

Q3) ii) Find  $y'$  by using logarithmic differentiation. Page 5

$$y = x^3 (1+x)^9 e^{6x}$$

Taking log on both side

$$\log y = \log x^3 (1+x)^9 e^{6x}$$

$$\frac{1}{y} \frac{dy}{dx} = \frac{1}{x^3 (1+x)^9 e^{6x}} \cdot \frac{d}{dx} (x^3 (1+x)^9 e^{6x})$$

$$\frac{dy}{dx} = y' = \frac{y}{x^3 (1+x)^9 e^{6x}} \left[ x^3 (1+x)^9 \frac{d}{dx} e^{6x} + x^3 \cdot e^{6x} \frac{d}{dx} (1+x)^9 + (1+x)^9 e^{6x} \frac{d}{dx} (x^3) \right]$$

$$= \frac{y}{x^3 (1+x)^9 e^{6x}}$$

$$\left[ x^3 (1+x)^9 (6e^{6x}) + 9x^3 e^{6x} (1+x)^8 + 3x^2 e^{6x} (1+x)^9 \right]$$

$$= \frac{y}{x^3 (1+x)^9 e^{6x}} \left[ 6x^3 e^{6x} (1+x)^9 + 9x^3 e^{6x} (1+x)^8 + 3x^2 e^{6x} (1+x)^9 \right]$$

$$= \frac{y}{x^3 (1+x)^9 e^{6x}} \left[ 3x^2 e^{6x} (1+x)^8 (2x(1+x) + 3x + 1) \right]$$

$$= \frac{y}{x(1+x)} \left[ 3(2x(1+x) + 4x + 1) \right]$$

$$= \frac{3y \left[ 2x(1+x) + 4x + 1 \right]}{x(1+x)}$$

Page 6  
Q3 ii) Find  $y'$  by using logarithmic differentiation.

$$y = x^3(1+x)^9 e^{6x}$$

$$y' = x^3(1+x)^9 \frac{d}{dx} e^{6x} + x^3 \left( \frac{d}{dx} (1+x)^9 \right) \cdot e^{6x} \\ + \left( \frac{d}{dx} x^3 \right) (1+x)^9 \cdot e^{6x}.$$

$$= x^3(1+x)^9 (6e^{6x}) + x^3(9(1+x)^8) \cdot e^{6x} \\ + 3x^2(1+x)^9 \cdot e^{6x}.$$

$$= 6x^3 e^{6x} (1+x)^9 + 9x^3 \cdot e^{6x} (1+x)^8 + 3x^2 e^{6x} (1+x)^9$$

$$= 3x^2 e^{6x} (1+x)^8 [2x(1+x)^9 + 3x + (1+x)]$$

$$= 3x^2 e^{6x} (1+x)^8 [2x(1+x)^9 + 3x + 1 + x]$$

$$= 3x^2 e^{6x} (1+x)^8 [2x(1+x)^9 + 4x + 1]$$